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Answer the following questions:                               Maximum Marks:20. 

1. Interpret the following diagram and choose the correct option for the 

following question.                                                                                       (1) 

 

 

 

  
 

Which of the following describes a system of agriculture where a single crop is 

grown in a large area? 

 

A. Shifting cultivation 

B. Plantation farming  

C. Horticulture 

D. Intensive cultivation 

 



2. Match lists I and II and select the correct answer using the codes below in the 

lists:                                                                                                                  (1) 

 

 

CROPS                  RAINFALL 

1. Wheat a. Frequent showers evenly distributed over the 

year 

2. Tea b. Annual rainfall between 75cm. and 100cm. 

3. Sugarcane c. 50 to 75 cm of annual rainfall 

 

 

A. 1-b, 2-a, 3-c. 

B. 1-a, 2-c, 3-b. 

C. 1-c, 2-a, 3-b.   

D. 1-b, 2-c, 3-a. 

 

 

3. Provide a detailed explanation of rubber cultivation in India under the 

following headings:                                                                                           (3) 

a. Geographical conditions 

b. Any two rubber-producing states. 

 

4. What are the key differences between Kharif crops and Rabi crops?                             

                                                                                                                          (3) 

 

5. Write the geographical conditions required for growing raw jute in India and 

mention its uses.                                                    

                                                                                                                          (3)    

6. Explore the initiatives implemented by the government to boost agricultural 

production.                                                                                                        (5) 
 

7 . Read the passage given below and answer the following questions –        (4) 

 

India is the largest producer as well as the consumer of pulses in the world. These 

are the major sources of protein in a vegetarian diet. Major pulses that are grown 

in India are tur (arhar), urad, moong, masur, peas, and gram. Pulses need less 

moisture and survive even in dry conditions. Being leguminous crops, all these 

crops except arhar help restore soil fertility by fixing nitrogen from the air. 

Therefore, these are mostly grown in rotation with other crops. 

 

 1. Name 2 major pulses producing states of India.                                         (1) 

 



2.  Which are the major pulses grown in India?                                          (1) 

 

3. Why should the Indian farmers grow more pulses?                                (2) 

------------------------------------------------------------------------------------------------ 

PLEASE NOTE: 

• You are advised against doing selective study. 

• The questions given above are sample questions for practice prior to the 

Board examination. 

• Although Answer Keys will be provided, you are advised to answer them 

yourself. Submission is NOT required. 

• In case you have queries regarding the portion of the chapters being 

revised here, you may send your query to your teacher through the Chat 

section in MS Teams. 

• Answer Key to Set III of Geography questions will be posted on 

27.01.2025 ( Monday). 

 

 

 

 
 


